there is issue of coherence and sentence structure
irite_precise.with the sequence of the main passage this precise is not coherent and is not

according to sequence of main passage |/
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divide this into two separate sentences 

signs 

no sense of this sentence 

sentence is too long and this was supposed to be written in the 1st half of precise 

there is issue of coherence and sentence structure 
write precise with the sequence of the main passage this precise is not coherent and is not according to sequence of main passage 
need improvement 5/20




